New Maths GCSE: N1 - Ordering Decimals

Correct Answer: ABCD
Which of the following is true? Explanation:
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B. 0.091<0.023
C. 0.169>0.17
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Correct Answer: ABCD

Which of these decimals is Explanation:
the largest?
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e€cimals Explanation:

A decimal number is shown on a grid.

Which number is less than the number shown on the grid?
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Which of the decimals has

the smallest value?

Explanation:
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Which number is the biggest? Correct Answer: AB CD
Explanation:
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Correct Answer: ABCD

Explanation:

Which of the decimals has
the greatest value?
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Which number is the biggest?

0.503
B o051
0.50
Bl os1

Which number is the biggest?

4.091
B s
4.009
Bl 4109

Which is the biggest?
0.4, 0.46, 0.409, 0.3873

a) 0.4 b) 0.46

c) 0.409 d) 0.3873
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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